©SBICLERK 20230
REASONING

MOST EXPECTED

EXAM 9 vgel 38 e <6 | s

uwe 09:00 AM »




Join my
TELEGRAM GROUP

) @reasoningbybasantsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



«74 @Reasoningbybasantsir

An uncertain number of persons are sitting in a straight line
facing north. Three persons sit between P and Q. R sits second
to the right of P. Only three people sit between Q and S. T is
immediate to the left of P. R sits fifth from the right extreme
ends of the row. X sits on the extreme end of the row. As
many people sit between R and U as many between U and S.
Y sits second to the left of V, who is an immediate neighbor of
Q. Not more than two persons sit between V and S. Five
people sit between S and X. As many people sit between S and

W as many between W and X.
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An uncertain number of persons are sitting in a straight line
facing north. Three persons sit between P and Q. R sits second
to the right of P. Only three people sit between Q and S. T is
immediate to the left of P. R sits fifth from the right extreme
ends of the row. X sits on the extreme end of the row. As
many people sit between R and U as many between U and S.
Y sits second to the left of V, who is an immediate neighbor of
Q. Not more than two persons sit between V and S. Five
people sit between S and X. As many people sit between S and
W as many between W and X.

How many seats in a row?

1.17

2.18

3. 15

4. 19

5.21
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An uncertain number of persons are sitting in a straight line
facing north. Three persons sit between P and Q. R sits second
to the right of P. Only three people sit between Q and S. T is
immediate to the left of P. R sits fifth from the right extreme
ends of the row. X sits on the extreme end of the row. As
many people sit between R and U as many between U and S.
Y sits second to the left of V, who is an immediate neighbor of
Q. Not more than two persons sit between V and S. Five
people sit between S and X. As many people sit between S and
W as many between W and X.

Who among the following person sits sixth to the right of Q?
1.P
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An uncertain number of persons are sitting in a straight line
facing north. Three persons sit between P and Q. R sits second
to the right of P. Only three people sit between Q and S. T is
immediate to the left of P. R sits fifth from the right extreme
ends of the row. X sits on the extreme end of the row. As
many people sit between R and U as many between U and S.
Y sits second to the left of V, who is an immediate neighbor of
Q. Not more than two persons sit between V and S. Five
people sit between S and X. As many people sit between S and
W as many between W and X.

How many people are sitting between S and T?

1. Four

2. Three

3. Ten

4. Six

S. Seven
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Statements :

Some cricket are football
Only a few football are ball
No ball is bat

Conclusions :
I. Some football is not ball
I1. All bat can be cricket

1. Only I follow

2. Only II follow

3. Either I or II follows

4. Neither I nor II follows
S. Both I and II follows
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Statements :

Only a few grapes are cherry
Some cherry are banana

No banana is apple

Conclusions :
I. All grapes are apple
I1. Some grapes are not apple

1. Only I follow

2. Only II follow

3. Either I or II follows

4. Neither I nor II follows
S. Both I and II follows



«74 @Reasoningbybasantsir

Statements :
All tea is coffee

All coffee is butter
Only a few butter is milk

Conclusions :
I. Some milk is coffee
I1. Some tea is milk

1. Only I follow

2. Only II follow

3. Either I or II follows

4. Neither I nor II follows
S. Both I and II follows



Statements :

Some buildings are sofas.
Some sofas are benches.
Some benches are tables.

Conclusions :
I. Some tables are sofas.
I1. No table is sofa.

1. Only I follow

2. Only II follow

3. Either I or II follows

4. Neither I nor II follows
S. Both I and II follows

«74 @Reasoningbybasantsir
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.

Which box is kept immediately above B?
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.

Which box is placed at 4th position?
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.

How many boxes are placed between U and A?

1. One

2. Three

3. Four

4. Two

S. More than four
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.

Which box is kept at the top?

1. A

ZET
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There are seven boxes — 7, A, V, B, U, C and W which are
placed one above the other but not necessarily in the same
order. The bottom box is numbered 1 and the box above it
numbered 2 and so on till the top box which is numbered
7. Two boxes are placed between V and Z, which is kept at
an odd number position above V. Two boxes are kept
between A and W. Three boxes are kept between Z and
W. B is kept immediately above U, which is not kept
above V.

If all the boxes are arranged in alphabetical order from
bottom to top, how many boxes will remain in the same
position?

1. One

2. Three

3. Two

4. More than three
5. None
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Statements:
HSGSJZ2L>A>Q=Y<R

Conclusions:
I.J>Q
II. Q<R

1. Only conclusion I follows

2. Only conclusion II follows

3. Both conclusion are follows

4. None of the conclusion are follows
5. Either conclusion I or II follows
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Statements:
F<HSL;L<JSS<A

Conclusions:
| N
II. A<H

1. Only Conclusion I is True.

2. Only Conclusions II is True.

3. Either Conclusion I or II is True.

4. Both Conclusions I and II are True
5. Neither Conclusion I nor Il is True.
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Statements:
R<OSLSE;G=EZ2S2P

Conclusions:
I. R<S
I.OSG

1. Only Conclusion I is True.

2. Only Conclusions II is True.

3. Either Conclusion I or Il is True.

4. Both Conclusions I and II are True
5. Neither Conclusion I nor I1 is True.
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Statements:
P>Q=R2S;T2USV=S

Conclusions:
I. V=R
II. V<R

1. Only Conclusion I is True.

2. Only Conclusions II is True.

3. Either Conclusion I or Il is True.

4. Both Conclusions I and II are True
5. Neither Conclusion I nor I1 is True.
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How many meaningful English words can be formed with
the third, fourth, seventh and eighth letters of the word
"CONSISTENCY"', using each letter only once in each
word? (To be counted from left)

3168 "CONSISTENCY" o T8, =te), |Tad SR A8

T W, Tk 168 H TcAeh & T hdel Ueh TR START
¥k, Tohd STTUT SHISTT IT6g THTY AT Hhd 32 (JTC & Fr=w
SATTIT)

1. One

2. Two

3. Three

4. Four

5. More than four
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6U#7TYS8X@WQI9LS%SVMI3F2K15Z&4C*0?D

In the given arrangement, how many such letters
are there which are immediately preceded by a
a4mbol and 1mmed1%g§ followed by a number?

TS SaET |, 09 3TeR & e &1k vt U
efteh 311 3ok TS Ueh TEAT 22

1. Zero

2. One

3. Three

4. Four

S. Five Letter



6U#7TYS8X@WQILS%SVMI3F2K15Z&4C*0?D

What is the product of numbers, which are between
‘X’ and ‘Z?
39 HEATSAT T MU T g, ST X' 3T 'Z' o =

2 "

1. 270
2.280
3.310
4. 250
5. 125

«74 @Reasoningbybasantsir
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6U#7TYS8X@WQI9LS%SVMI3F2K15Z&4C*0?D

If all the odd numbers are dropped from the
arrangement then which of the following will be 5™
element to the right of the 7th element from the left
end of the given arrangement?

gty et foram wanett ot saaeen @ gt fear s
fAteiRad W o s ©T saa&dT o 910 B8R ¥ 74 acd
< T8 TR 597 dcd BRIT?
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6U#7TYS8X@WQILS%SVMI3F2K15Z&4C*0?D

How many such numbers are there which are
immediately preceded by a symbol in the given
arrangement? .
et fora Tiamt ¥ fimres 3t weer & TS saawe &
T U 22
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

T S {*h &I AHHIGR UThdl H 9 § (NH ¥ Tcdeh H i S &,
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Who amongst the following is facing N?

B
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Which of the following statements is true regarding M?

1. M faces one of the immediate neighbors of X
2. K is one of the immediate neighbors of M

3. None of the given statement is true

4. L sits to the immediate right of M

S. All of the given statements are true

«74 @Reasoningbybasantsir
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Who amongst the following is facing X?

~

1.
2. L
3. M
4.
S.

A |
None of these
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

What is the position of Z with respect to Y?

1. Third to the right
2. Second to the right
3. Immediate left

4. Immediate right

S. None of these
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Four of the following five are alike in a certain way and so form a
group, find the one which does not belong to the group.

s
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